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import sys

sys.path.append("statlib™)

from xtest import chisg_test®

chisqg_test(mat)

from xtest import chisq

chisq(mat)

from xtest import phi

phi(mat)

from xtest import contingency

contingency(mat)

from xtest import cramer

cramer (mat)
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mat = [[4, 5, 2, 0],
[01 7! 61 1]!
[1, 0, 3, 111

import sys
sys.path.append("statlib™)

from xtest import chisq_test®
chisq_test®(mat)

0.07829981227251985

from xtest import chisq
chisg(mat)

11.344332939787487

from xtest import phi
phi (mat)

0.6149344935245131

from xtest import contingency
contingency (mat)

0.5238192896958154

from xtest import cramer
cramer (mat)

0.4348243503566983




